· For the following questions – Use P1V1 = P2V2.  

· Most mens’ lungs hold 6L of oxygen.  

· Most womens’ lungs hold 4.2L of oxygen.
· Standard pressure is 760 torr.
1. A male diver inhales at standard pressure. While holding his breath, he dives 15 feet to the bottom of the pool where the pressure is 1105 torr.  What will be the volume of the air in his lungs at the bottom of the pool?
2. A female diver inhales at normal surface pressure (760 torr).  While holding her breath, she dives 33 feet underwater where the pressure is 1520 torr.  What will be the volume of air in her lungs at the bottom of the pool?
3. A female scuba diver inhales at 90ft below the surface where the pressure is 2072torr.  Without letting any air out of her lungs, she rises to 5 feet below the surface where the pressure is 875 torr.  What will the volume of the air in her lungs be at 5ft?
4. A male scuba diver inhales at 130ft below the surface where the pressure is 3,000torr.  He holds his breath as he ascends to standard pressure.  What will happen to the volume of the air in his lungs?

5. Whose lungs will be smaller – a woman who dove to a pressure of 876 torr or a man who dove to 950 torr?

6. Why is it very dangerous to hold your breath when ascending during a scuba dive?
